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82950105
テキスト ボックス
(包括的単価個別合意方式)


82960305
テキスト ボックス
(別記様式1)



N 2

it

£

UK FR R KA 7 AL B ~ A Tk e < o) RUERE . HEPN)

THEX Sy - TH - FERI - #5310 b -4 TG B B G AT & i i (A S
HULL R
Al ] i X
= 1 87, 627, 130
w4 T
= 1 6,901, 747
I L
m3 1,200 3,214, 480
el Ty =7y b R pREE 5,
000m3 i
m3 1,200 328.2 393, 840
b TE b Cash ERIRY L&)
m3 1,220 2,312 2, 820, 640
FERTIE: 3N
= 1 3, 534, 867
RE R (B) 1350) BGHIFE vAE - W ROWE
CREYE
m2 4,130 855.9 3,534, 867
P AT
= 1 152, 400
B S AVHE T OB
m3 1,200 127 152, 400
PR T
= 1 1, 632, 043
FEET
= 1 1, 632, 043
7" VR AN A KG4-H1000FH 4
m 49 33, 307 1,632,043
PN T ==
= 1 11, 958, 060
Rt L
= 1 11, 958, 060
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UK FR R KA 7 AL B ~ A Tk e < o) RUERE . HEPN)

THEX Sy - TH - FERI - #5310 b -4 TG B B G AT & i i (A S
NS TIwR JANESR R TR & 12m
RRFITIAR 12m
bie 82 145, 830 11, 958, 060
LR T
= 1 63, 769, 036
2947wy T CE7 nyJ8E)
= 1 61, 032, 684
AL
m2 4,083 14, 948 61, 032, 684
AR L
= 1 2,736, 352
T (BREE) 2/7) -} 16-3-25 (F47) ME50cmE S 100cm
m 64. 8 31, 360 2,032,128
N =R 16-3-25 (i 4F) 1E50cmE X 100cm
m 21.6 32, 603 704, 224
WEmRE T
= 1 3, 148, 750
S EUE L 1T
= 1 1, 896, 250
) - M IS B L IEATHEEY) FAOE L
m3 250 7,585 1, 896, 250
TEHRALER T
= 1 1, 252, 500
Prau kil av) -k (SR
m3 250 2,217 554, 250
ALy av) -k (SR
m3 250 2,793 698, 250
e
= 1 217, 494
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UK FR R KA 7 AL B ~ A Tk e < o) RUERE . HEPN)

HOOflf =%

THEX Sy - TH - FERI - #5310 b -4 TG B B G AT & G| T (R EM)
THAERK LT
= 1 217, 494
Pzl RC-40 #JZ 100mm 860m2
= 1 217, 494
B T
= 1 87, 627, 130
BTl TE:
= 1 8,715, 477
BTl TE:
= 1 1,943, 632
TR
= 1 1, 083, 440
T RR A Sy FRAR ST A R Lzl
= 1 1, 083, 440
BUGERRYCEE (K5 1)
= 1 860, 192
MR R (B L)
= 1 6,771, 845
Wi
= 1 96, 342, 607
BTk X=giiv oy
= 1 25, 016, 886
R 5]
= 1 229, 827, 263
— e
= 1 33, 672, 737
T HAlik
= 1 263, 500, 000
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UK FR R KA 7 AL B ~ A Tk e < o) RUERE . HEPN)

HOOflf =%

THEX Sy - TH - FERI - #5310 b -4 TG B B G AT & G| T (R EM)
THE B 2 %8
= 1 26, 350, 000
TG
= 1 289, 850, 000
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[ ey < i1 X

THEX Sy - TH - FERI - #5310 MoK TG B B G AT & # i (A S
HULL R
FhE X
= 1 78, 263, 385
W+
= 1 77, 896, 680
i) L (ICT)
m3 0 0
PRI (ICT) Ap =7 sy BEFMEL 10,000
324 F50, 000m3 K15
m3 0 292.8 0
P Twp =7y ML EEE 10
, 000m3 LA 150, 000m3 A
m3 0 228.6 0
b TE D CEUL EHIRY L& T
m3 0 1,095 0
i L (ICT)
m3 18, 500 75, 550, 990
PRI (ICT) LAp =7y BEFMEL 10,000
324 F50, 000m3 K15
m3 8, 500 292.7 2, 487, 950
P LAy =7y ML EEE 10
, 000m3 LA 150, 000m3 A
m3 10, 000 228.6 2, 286, 000
b TE D CEUL EHIRY HET)
m3 18,470 3,832 70, 777, 040
P T
= 1 2, 345, 690
B S AVHE T O ALE]
m3 0 127 0
B S AVHE T O ALE]
m3 18,470 127 2, 345, 690
e
= 1 366, 705

[ -Axmd A R




[ ey < i1 X

HOOflf =%

THEX Sy - TH - FERI - #5310 b -4 TG B B G AT & G| T (R EM)
THAERK LT
= 1 366, 705
Pzl RC-40 #JZ 100mm 1, 450m2
= 1 366, 705
B T
= 1 78, 263, 385
BTl TE:
= 1 7, 559, 656
BTl TE:
= 1 1, 383, 821
Htre m
= 1 585, 790
PREFE B (ICT)
= 1 39, 042
VAT LRI (ICT)
= 1 546, 748
B ERRYCEE (K5 1)
= 1 798, 031
HimE R (FE L)
= 1 6,175, 835
Wi
= 1 85, 823, 041
BTk X=giiv oy
= 1 22, 644, 729
R 5]
= 1 108, 467, 770
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